Fractional Difference without bins
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matplot!ib.pyplot
numpy as np

scipy as sp

math
scipy.interpolate
scipy.stats

hp.read_map(
b = hp.read map(

a cl = hp.anafast(a)
b ¢l = hp.anafast(b)

ell = np.arange(len(a_cl))
td = (a el = bel)/a el

. np.mean(fd))
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lensed map_values.py
lensed map values.py~
python_script_template.py

jasonlee@nia-login0Ol:/scratch/r/rbond/jasonlee/jason_cib_lensing/maps/analy
sis 181024/remi _final _maps$ vi fd_analysis.py
jasonlee@nia-login0Ol:/scratch/r/rbond/jasonlee/jason_cib_lensing/maps/analy
sis_181024/remi _final _maps$ python fd analysis.py

NS | DE = 2048

ORDERING = RING in fits file

INDXSCHM = IMPLICIT

NS [DE = 2048

ODRDERING = RING in fTits file

INDXSCHM = [MPLICIT

( 'Mean of Td = '. array([-1.76115989e-06, 9.00477030e-04. -1.00489438e-03,

1.45927529e-01. 1.49870211e-01., 1.58279531e-011))
jasonlee@nia-login01:/scratch/r/rbond/jasonlee/jason_cib_lensing/maps/analy
sis 181024/remi _final maps$ vi fd analysis.py
jasonlee@nia-login0l:/scratch/r/rbond/jasonlee/jason_cib_lensing/maps/analy
sis 181024/remi _final maps$ python fd_analysis.py
NSIDE = 2048
ODRDERING = RING in fTits file
INDXSCHM = [MPLICIT

INDXSCHM = [MPLICIT

( 'Mean of fd = '. '0.0019841372566161883")
jasonlee@nia-login01:/scratch/r/rbond/jasonlee/jason_cib_lensing/maps/analy
sis 181024/remi _final maps$




